
1

1

2

2

A A

B B

DRAWN

Eric Plemons

CHECKED

Chris Hayes

QA

MFG

APPROVED

Jack Thomison

Seppo Pentilla

6/23/2014

University of Tennessee, Physics

TITLE

Laser Mount Assembly

SIZE

A

SCALE

DWG NO

FUND13N3HE10M8U8713 A040

REV

1

SHEET 1  OF 7 

1

2

3

5

6

11

4

7

13

s1p
Cross-Out

s1p
Inserted Text
Penttila



PARTS LIST

DESCRIPTIONPART NUMBERQTYITEM

6061-T6 AluminumBasePlate11

6061-T6 aluminumSupportPlate12

3/8-16 x 12 6061-T6 Aluminum Support Rod94435A31433

Kinematic MountBKL-414

6061-T6 AluminumVertical Mount Plate15

6061-T6 AluminumGusset26

Tilt Stagenewport_3917

1/4-20 X 0.75 Aluminum cap head screw98511A63088

1/4-20 x 0.5 Brass flathead counter sink screws92451A53749

1/4-20 x 0.5 Aluminium cap head screw98511A610510

3-Axis Linear Stage460A-XYZ111

3/8-16 ALUMINUM HEX NUT90670A031912

LaserMelles Griot 633 nm113

1

1

2

2

A A

B B

DRAWN

Eric Plemons

CHECKED

Chris Hayes

QA

MFG

APPROVED

Jack Thomison

Seppo Pentilla

6/23/2014

University of Tennessee, Physics

TITLE

Laser Mount Assembly

SIZE

A

SCALE

DWG NO

FUND13N3HE10M8U8713 A040

REV

1

SHEET 2  OF 7 

1. All dimensions are in inches.

2. All part numbers are from Mcmaster Carr.



1

1

2

2

A A

B B

DRAWN

Eric Plemons

CHECKED

Chris Hayes

QA

MFG

APPROVED

Jack Thomison

Seppo Pentilla

6/23/2014

University of Tennessee, Physics

TITLE

Laser Mount Assembly

SIZE

A

SCALE

DWG NO

FUND13N3HE10M8U8713 A040

REV

1

SHEET 3  OF 7 

7.00

6.00

2.00
2.00

.38

.38

2.00

.50

#1 BASE PLATE

3/8-16 UNC - 2B 

3/8-16 UNC - 2B

3/8-16 UNC - 2B

.69 .69

.69
.50

.50

.50

.50

.50

3.50



1

1

2

2

A A

B B

DRAWN

Eric Plemons

CHECKED

Chris Hayes

QA

MFG

APPROVED

Jack Thomison

Seppo Pentilla

6/23/2014

University of Tennessee, Physics

TITLE

Laser Mount Assembly

SIZE

A

SCALE

DWG NO

FUND13N3HE10M8U8713 A040

REV

1

SHEET 4  OF 7 

7.00

6.00

1/4-20 UNC - 2B
1/4-20 UNC - 2B

.40  THRU

.40  THRU

.40  THRU

.50

3.50

2.95

4.95

5.50

.50

.50

1.50

#2 SUPPORT PLATE



1

1

2

2

A A

B B

DRAWN

Eric Plemons

CHECKED

Chris Hayes

QA

MFG

APPROVED

Jack Thomison

Seppo Pentilla

6/23/2014

University of Tennessee, Physics

TITLE

Laser Mount Assembly

SIZE

A

SCALE

DWG NO

FUND13N3HE10M8U8713 A040

REV

1

SHEET 5  OF 7 

.27  THRU

  .51 X 82°

.27  THRU

  .51 X 82°

.27  THRU

.27  THRU

.27  THRU

3.00

3.00

1.00

1.00

1.50

1.50

.50

.50

.25

#5 VERTICAL MOUNTING PLATE



1

1

2

2

A A

B B

DRAWN

Eric Plemons

CHECKED

Chris Hayes

QA

MFG

APPROVED

Jack Thomison

Seppo Pentilla

6/23/2014

University of Tennessee, Physics

TITLE

Laser Mount Assembly

SIZE

A

SCALE

DWG NO

FUND13N3HE10M8U8713 A040

REV

1

SHEET 6  OF 7 

4.00

3.00

1.50

.75

1.00 1.00

.25.25

.27  .50
.27  .50

.400 

.400 

.50

.25

.25

.50

.50

1/4-20 UNC - 2B

1/4-20 UNC - 2B

#6 GUSSET

.44

.44



1

1

2

2

A A

B B

DRAWN

Eric Plemons

CHECKED

Chris Hayes

QA

MFG

APPROVED

Jack Thomison

Seppo Pentilla

6/23/2014

University of Tennessee, Physics

TITLE

Laser Mount Assembly

SIZE

A

SCALE

DWG NO

FUND13N3HE10M8U8713 A040

REV

1

SHEET 7  OF 7 

3 x 1/4-20 UNC - 2B THRU

14.09

4.625

5.00

9.08

Alcove Metal Plate

Notes:

 

1.  Drill Holes in Alcove Base Plate at BL-13.  

     

2.  Plate may also be removed from alcove to drill.

 

3.  Choose 1/4 -20 screws with appropriate length and

    appropriate washers for attaching laser mount to alcove 

    base plate. 


		2014-06-27T15:01:15-0500
	Penttila, Seppo I.


		2014-07-02T17:08:27-0400
	Jack Thomison


		2014-07-02T17:09:41-0400
	Christopher Hayes


		2014-07-02T14:18:13-0700
	Christopher Crawford




